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QUESTION BOOKLET
This question paper contains 170 questions. / 39 Y% T H 170 J% £ |
All questions are compulsory. / &t 59 e E |
One question carries half mark only. / T Y99 @ fe7u haet Jman 37 2 |
Maximum Marks : 85 SAferehan 37 : 85
Time : 2 Hours qag : 2 9ve

1.  The primary goal of a computer system is to turn data into

(A) ideas (B) suggestions (C) information (D) _reports

Teh I WUITeAt 1 T1efiieh @et 1t i o FEEH1 1 @ |

(A) foami (B) Hgmat (C) =T (D) Tearor (i)
2. In which generation of computers did multiprogramming start ?

(A) First generation (B) Second generation

(C) Third generation (D) Fourth generation

e it ferm it § wedt - 6 yEard gs ot 7

(A) v i@ H  (B) ffmdidtd (©) gdaddd (D) wqd it
3. Which is the smallest of the following computers ?

(A) Laptop (B) Notebook . (C) Desktop (D) Workstation

= el @ Hed BRI A TR ?

(A) w9 (B) Hieas (C) <& (D) Fh-RIH
4.  Generally which button of the mouse is used for OK ?

(A) Left (B). Right (C) Middle (D) Wheel

AR T HTHE 1 D &1 g OK % fore ygw 2 g 7

(A) smt (B) g (C) A=A (D) =
5. Which device can understand difference between data and programs ?

(A) Input device (B) Output device (C) Memory (D) Microprocessor

i F1 395 (Teardst) erer an s % Hey 9 TeaH Ghar 87

(A) e fearsst (B) 3heqe feamsst () wmidh (D) HIFHITHR
6.  Which of the following is a part of the system unit ?

(A) Floppy disk (B) Monitor (C) CD-ROM (D) CPU

= 4 8 =9 o e e (yoreht 3618) w1 femm 2 2

(A) it fems  (B) #ifet (C) #E-im (D) "y,

7. An electronic path that connect one part of computer to another is
(A) Logic gate (B) Serialport (C) Modem (D) Bus

ueh forggd v St et o U fee i o fee @ sean @
(A) dfsk e (B) Hif@@iaé (C) #ied (D) =9
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8.  Which of the following computer languages is appropriate for commercial
purpose ?
(A) Pascal (B) Cobol (C) Basic (D) Fortran
arforses 7q o fore f= § & ahi9 Tt sheget uTeT 3uT 2 7
(A) Tr=FHA (B) =& (C) wf&= (D) ®RZA
9.  The smallest unit of computer memory is called
(A) Byte (B) Bit (C) Megabyte (D) None of these
HE AT 6 geE B IHE B -
(A) ®Ee B) fae (C) Wmarge (D) ¥ & HiEE
10. A compiler translates a program written in a high level language into
(A) machine language (B) an algorithm
(C) a debugged program (D) None of these
FHITZAL Ueh 3= TqT <h1 w1 # ford 1mu wsh w5 IHATE AR |
(A) T wreT (B) ThHUSTMRHAT
(C) T Eremt S | (D) T & i el
11. In MS-DOS, the command that is used to'clear the screen is
(A) CIS _ é{) Clear (C) Clear screen (D) Wipe
MS-DOS H, BhH %l AR i o oy 95w HHIE 2 -
(A) CIS (B) el (C) wARBEA (D) 9189
12.  When more com uters are connected at one place, it is called
9 T BH T 7, o 98 FacT 2 -
(A) LAN (B) WAN (C) WON (D) DON
13. The most important or powerful computer in a typical network is
(A) Network station (B) Network client
(C) Network server (D) None of these
Q%ﬁﬁ?ﬁ%ﬂ%ﬁ%ﬁﬁﬂﬁ%ﬁﬁ?%ﬁﬂﬁ%ﬂﬁmm@%:
(A) FegHRIA  (B) de@H Fse (C) Fahda (D) 98 A His Tl
14. An alternate name for the completely interconnected network topology is
(A) Mesh B) Star (C) Tree (D) Ring
59 4 ST e et 3 fora v A 2 ‘
(A) =91 (B) ¥R © & (D) for
15. A word in a web page, that when clicked, opens another document is
%gﬁanchor aéB) URL (C) hyperlink (D% reference
EERER:AC] FH T A STHHE GeAdT 2, 8
(A) Tt (B) URL (C) gEwfds (D) &g
16. 'When you cut or copy information, it gets place in the
(A) Clipart B)_ Clipboard (C) Internet (D) Motherboard
Wﬁ%‘ Fl ‘He 1 B Hd 8, q T8 TIE I Hl 2 :
(AJ ﬁ%ﬁqsné (B) fauere (C) 3=Te (D) HewETS
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17.

18.

19.

20.

21.

22,

23.

24,

Which type of file is created by word processing programs ?
(A) Database file (B) Storage file
(C) Worksheet file (D) Document file

a2 TrEfEm T gr fed g o we ffia 2di 27

(A) SRES BEA (B) WRA®EA (C) T3 ®eed (D) SiagHe ®ise
Which of the following device used ‘set of beads’ to represent the unit of data ?
(A) ENIAC (B) EDVAC  (C) Abacus (D) MARK-1

=1 5 & 31 a1 S5 e F 3H1E H T HE & foe g & g FH I
HATa?

(A) ENIAC (B) EDVAC  (C) Uws®" (D) HwEh-1
‘Expert system’ is the characteristic of which generation of computer ?
(A) First generation (B) Second generation

(C) Third generation (D) Fifth generation

‘waae fireen’ fora Nt 3 et i enafirpd 8 2

(A) wEdid (B) (€ gEEAS (D) THER

The flow and timing of data to and from the microprocessor is regulated by
(A) Control pins (B) Address pins (C) Datapins (D) Power pins
TS TSGR & ST % 3T~ 1 678 71 T % g P g g |
(A) wga i (B) wEfEl o (C) safE (D) Wi

Which of the following is an example of an input device ?

(A) Monitor (B) ¢ Scanner (C) Printer (D) Speaker

= 8 & 9 91 U 2 feamss &1 w2 ?

(A) Wit (B) W (C) firx (D) ¥

Which of the following devices produce the best quality graphics reproduction ?
(A) Laser printer (B) Inkjet printer (C) Plotter (D) Dot matrix printer

=1 4.8 5 |1 3ustw 3= ife it Ifthe wfdferfy 3ea= (Fmior) wean 27

Ay =t (B) Rt (0) =X (D) sie ffgem it
Which port can also used to connect two computers to transmit files ?

(A) Serial port (B) Parallel port (C) AGPport (D) Firewire port
BISA YT o o7 1 FHPpedi ot SireH o foTu 38 U1 ol +ft EmTet 21 Hehell 2 -
(A) Hifgedd  (B) Weai9ie  (C) AGP9RE (D) SRR-GREI IR
What is the main folder on a storage device called ?

(A) Platform (B) Interface (C) Root directory (D) Device driver
Wi fearss § g wiest i 1 F&d & ?

(A) weHH (B) $eTHH (C) wefemed (D) feamy g
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28,

26. Which of the following is a binary number ?
fadasR fagdiaent ?
(A) 36 (B) 10 (C) 45 (D) 29
27. Floating point representation is used to store
(A) Boolean values (B) Real integers
(C) ‘Whole numbers ‘ '(D) All of these
1 Tufed 0 % fore vefen wrde fodesm ugF e e ?
(A) SfE AR (B) arafas QUi (C) Uil (D) =& @t
28. Software is generally classified into, which type of software ?
(A) System software (B) Utility software
(C) Application software (D) All of these
IR FFeaR bl fohd bR % Tiweazm § aficha feram sam 87
(A) famn aiges=R (B) Ffeferdt wirea
(C) TSI HiFaH (D) ¥z =+
29. Which of the following is/ar¢ called low level language(s) ?
(A) Machine language (B) Assembly language
(C) Both (A)and (B) (D) None of these
frafafaa § 9 = @ fes s v /2 2
(A) T T (B) THTEA 9w
(C) (A)au(B) &l (D) =8 & & TE
30. A translator is best described as
(A) anapplication software (B) a system software
(C) ahardware component (D) None of these
TS F{AES (THciet) i A8 91 T 36 T4 H g o1 ohal & :
(A) T UAThIM IR (B) T Toem girer
(C) U g S (D) 34 | g &
31. Proprietary software is owned exclusively by
(A) a single company (B) sharing mode
(C) a single user and freely (D) None of these
TITEE Bidedal W 3 Wified gl &
(A) T Tshel HIt 1 (B) TRl @IS 1
(C) T ¥9 F Tk Teil 1 (D) =8 U i &
Code No. : C-483/2018/Series-A 6

Which of the following memories has the shortest access time ?
(A) RAM (B) ROM

(C) Cache memory (D) Magnetic core memory

o= 1 § 19 it AEI o1 T TEH g B BT 2 7

(A) RAM (B) ROM (C) Suamdlt (D) #fes s umd
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32.

33.

34,

35.

36.

37.

38.

What is the name given to the process of initializing a micro-computer with its
operating system ?

(A) Cold booting (B) Booting

(C) Warm bootin (D) None of these

qal%ﬁaﬁ—w SEeh! TRETeT WOTTet! o BT I i <hi STk ol oam = fea
T™e ?

(A) #resgien  (B) Ffem (©) Fwgfn (D) wHAHE T
The program in the operating system that does processor management is called
(A) Traffic controller (B) Dispatcher

(C) Processor scheduler (D) Job scheduler

Sf=TeH TUITel 3 98 T S IEE YEYH 1 H1d il 2, el 8

(A) ¢iftheh shelelt (B) fegm (C) e fagger(D)  wiTs farggen

Which of the following is not the type of real time operating system ?
(A) Hard real time operating system
(B) Soft real time operating system
(C) Complex real time operating system
D) None of these
H i H1 ardfae G9d GRETE JUedt %1 HHR T8 8 7
(A) hied ardfaes G0 afEme yonelt (B)  Hie ardfaes a0 qiEmed Jomeft

(C) et arfeas wxa g gone (D) 348 d i3 78

Which type of commands in MS-DOS needs additional files for their
execution ?

(A) Internal commands (B) External commands

(C) Batch commands ) (D) None of these

MS-DOS # forq yohr % uig 1 3= fenfed (Frifaa) =0 % fou sfafe
(A) 3Tl FHIZE(B) 9@ FHIgH  (C) ST HUEH (D) 398 & IS F&l

In MS-Word, changing the appearance of a document is called

(A) Proofing (B)_ Editin (C) Formatting (D) All of these
MS-DOS #, & Sz % T ! aeeH] HaclTl &

(A) e (B) tufefén (C) wiHfen (D) =@

Which command is used in MS-Excel to calculate the total characters in a cell ?
MS-Excel T Us ¥t H A 3127 <t 0T o fefu sl |1 HuTe UgH a1 & 7

(A) Len (B) Length (C) Mid (D) Sid

Charts in MS-Excel are constructed with

(A) data points (B) dataseries (C) dataelements(D) Both (A)and (B)
MS-Excel ﬁ?lzé%rf)ﬁa Bd &

(A) ST % Y (B) =2 vt % |1y
(C) S awis a1y (D) (A) @1 (B) gHi
v Code No. : C-483/2018/Series-A
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39.

40.

41.

Which PowerPoint feature will you use to apply motion effects to different
objects of a slide ?

(A) Slide transition (B) Slide design

(C) Ammatlon objccts (D) Animation scheme

Teh T3S o foIfs= 3ffesigel sl HIIH Y419 ¢4 @ fo7U PowerPoint & 19 & Hiel 1
IR HTN7?

(A) &ATEE ZifaeH (B) wr3e festmea

(C) THHwH fesay (D) wHiEvE =hw

Which of the following is a type of database user ?

(A) Application programmer (B) Database Administrator
(C) End user (D) All of these

7= 9 5 &9 a1 SereE o s TER a7

(A) TSI TITHT (B) seey tgHfiae

(C) WeTHR (D) =g a4t

Which of the following is not a type of data model ?

(A) Hierarchical Model (B) Network Model

(C) Relational Model (D) Abstract Model

= 4 9 o |1 S1e H5igd % T THR A8l 8 7
(A) IgHH Hed(B) e Aiged.  (C) Hafush digdd (D) 31qd Higed

42. Microsoft Access is an example of
(A) Computer (B) CPU (C) Device (D) None of these
HISShIEITE CHad fohareh! Ueh Serev 27
(A) FFIX (B) ' CPU (C) feams (D) T & &S A&l
43. In MS-Access, Text data type may contain maximum character of
(A) 255 character (B) 256 character
(C) 1064 character (D) No limit
MS-Access H TRZ 12T 2139 H HEWH &R B Thd &
(A) 255 (B) 256 (C) 1064 (D) HISHFAER |
44. A central computer surrounded by one or more satellite computers is called
(A)_Bus network (B) Ring network (C) Star network (D) All of these
Ush gieT (i) et St Ueh 1 3fereh Bettge Hredl & o g3m 2 7, haeirn 2
(A) F83ca® (B) fodead (C) WRI¥eEs (D) Teadt
45. A machine that connects two or more electronic mail systems and transfers
messages between them is called
(A) Brid es 31% User agent (C) Mail gateway (D) None of these
ferera At yonferai 1 Siredt & qe 3 He |l 1 Yy
mﬂim@mﬁ
(A) 3=t (B) TG  (C) M@-Td (D) FHADE T
Code No. : C-483/2018/Series-A 8
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46.

47.

48.

49.

50.

51,

52,

53.

In OSI Model, which of the following layers decide the path of data ?

(A) Physical (B) Application (C) Network (D) None of these
OS] wiger # =1 § & 9 91 TR S99 79 Ha1 2?7

(A) wifaes (B) THRH  (C) WA (D) 3 ¥ IS TE
A website is a collection of

(A)_programs  (B) graphics (C) algorithms (D) None of these
Ueh JerETge Fereen! HIET 2 7

(A) SmmEisE  (B) WieeEi®  (C) TeMReHi Sl (D) 30 & HIS T80
Which of the following is not a part of E-mail address ?

(A) Username (B) Domain name (C) Protocol (D) All of these
= 8 & o &1 $-Tet vga w1 fawmn T 27

(A) F&H (B) SWAAH  (C) WRRbIA -~ (D) F@EHf
Which of the following is used to write web pages ?

39 U1 ST % feTu Ferment 3uamT Ban & 7

(A) URL (B) HTML (C) HTTP (D) FTP
Software programs that close potential security breaches in an operating
systems are known as

(A) Security patches (B) Security repairs

(C) refresh patchc’s (D) None qf these

T UTETe YOTTeft # 98 St STamH 1 heEeltd &, St arret geen sifasmor
FEHA 27

(A) Taagfcdt o (B) ﬁaqﬁaﬁﬁaﬁ

(C) fora ¥== (D) 38 | 13 T&l

A virus that can delete antivirus software 1s called a

(A) consortium (B) vaccine (C) retrovirus (D) None of these

Teh 190 i1 UF1 -0 G1Faa ol Elefle oL Tehdl 8, Sheclidl &
(A) HEifeEm  (B) dAfFE (C) Qe (D) 3 A &3 4l

Encapsulation is also known as

(A)-Information hiding (B) Data abstraction
(C) Data management (D) None of these
AR 3 it ST ST 8

(A) FHHM GIAT(B) SRIFGEA  (C) SRIVEET (D) 398 A 18 Tl
Which of the following sites has the most impressive drainage system ?

(A) Mohenjodaro(B) Dholavira (C) Banawali (D) Harappa
e 4 3 fopa ot (FTee) W oo EETedt Sl e e wE R

(A) TiETgEl  (B) HieEm (C) st (D) &S
9 Code No. : C-483/2018/Series-A
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54. The first and most important event of Ashoka’s reign recorded in his
inscriptions was
(A) his conversion to Buddhism (B) Kalinga War
(C) concept of Dhamma (D) his attaining the throne
& TG § YW qUT Hed Heea (ol e il 36 freneral # ifehd &, of -
(A) 3T dig °d IR (B) hfei &1 Jg
(C) & i TR (D) 3HHI TS
55. Pliny was a
(A) Roman writer (B) Greek writer
(C) Parthian writer (D) Chinese writer
AT &, T
(A) THAo@®  (B) FTHio@s (C) WA o@s (D) =i oEs
56. In central India, the Kushan rule was followed immediately by
(A) Murundas (B) Kanvas (C) Satavahanas. (D) Guptas
A WA H, FUI0T A6 hl Gl Te=1q ST fohageh g fehan 1 7
(A) Qi@ (B) FEGW () FeTEi g (D) TA G
57. Which is one of the earliest residential-cum-teaching institution ?
(A) Nalanda (B) Vikramashila (C) Taxila (D) Kanchi
=1 3 & i a1 e g e -ae - i e o 2 '
(A) ATerat (B) fespmfRrem . (C) aarfarem (D) i
58. Who founded the Pala empire ?
(A) Ruhma (B) Dhruva (C) Dharamapala (D) Gopala
qTcT HTHTSY I T i 417
(A) T&Hl (B). yd (C) gwITe (D) AT
59. Who was the court poet of King Mahipala of Kannauj ?
(A) Kalhana (B) Bana (C) Ravikirti (D) Rajsekhara
% TSI FEMTA S TFA-hid A I ?
(A) Fervl (B) s (C) Tashifd (D) TSR
60. Who constituted a council known as “Umara-i-Chahalgani’ ?
(A) Balban (B) Itutmish (C) Sikandar Lodi (D) Aram Shah
- TR AT Tfeg i T foRea i oft 7
(A) SeT&q (B) Iegamw  (C) Taw@ed (D) smrwEmR
61. Al-Beruni came to India in
(A) 9™ century AD (B) 10" century AD
(C) 11" century AD (D) 12" century AD
HAA-TEA! U el =T Y17
(A) et wremedt (et (B) cudi wrarsd (Fet)
(C) wmedi vrarsdt ($&ft) (D) e vrarsd! (Seh)
Code No. : C-483/2018/Series-A 10
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62.

63.

65.

66.

67.

The Chola empire came to be extinguished finally with the invasion of

(A) Alauddin Khalji (B) Muhammad bin Tughlaq

C) Balban ag%% Firoz Shah Tughlaq
TSR o R At FTHTST Hl Y H I () §IAT 7

(A) ITEATIEH et ) HErTe-fod-qrers

(C) wereH (D) ot grrers

What lead to the Maratha empire becoming a confederacy of feudal chiefs ?
(A) The rise of the Peshwas

(B) Sambhaji’s weaknesses

(C) Ambitions of the old Sardars like Angrias and Bhonsles

D) None of these

SR JUST HTHTST Ush |t JRIanai st Toge 99 5417

(A) TUSTEI3T 1 3¢

(B) THTSHt <hl ST _

(C) 3TATHET qT Higel S8 [0 TIERT i TErhiand

(D) 3 & &r5 TE

Who was the first secular ruler of the Afghanclan ?
(A) Chengiz Khan (B) Balban
(C) Sher Shah (D) Abul Shah

G F91 1 AT G927 IHE i AT?
(A) S @H  (B) woed (C) e (D) g« TR

The Dual system of government was abolished by

(A) Lord Canning (B) Warren Hastings
(C) Lord Ri (D) Lord Lytton
srtrngﬁ EESGERETIRIDIR “

(A) TS K gl (B) @t &fedm gm

(C) =i o g (D) wiE fore g

Which militant nationalist killed the ‘Rand’ ?

(A) Damodar Chapikar (B) Barindra Kumar Ghosh
Jatmdranath Baner_]ee (D) Prafulla Chaki

T &1 et fhaT 917
(A) a’m‘m arcﬁem (B) @iz FHR =N
(C) STy St (D) pee =Teh!

Which of the following leaders was not involved with the emergence of Trade
Union Movements ?

(A) Lala Lajpat Rai (B) B.P. Wadia
1(:‘11:’ M.A. Jinnah (D) N.M. Joshi
T8 & A1 a1 gt g9 et % 3quda § wnfire 72 o 2
(A) ST ATSIT T (B) fit. . arfen
(C) wm.u. 5= (D) TA.UH. Ssh
11 Code No. : C-483/2018/Series-A
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68.

Faulting owes its origin to

(A) tensional forces (B) compressional forces

(C) convergent forces (D) All of these

W 2 .

(A) T o sl AR E (B) ®iied ot it AR A

(C) rfirardt =1 6 3 4 (D) =g |+t
69. The origin of earth dates back to

(A) 3.6 billion years (B) 4.6 billion years

(C) 5.6 billion years (D) 6.6 billion years

gefl &1 IgHE AHI T @ IS § g6

(A) 3.6FUgad (B) 4.6FUgad (C) S.6HUSaY (D) 6.6 Higay
70. Monsson winds fall in the category of

(A) planetary winds (B) local winds

(C) periodic winds _ (D) None of these

AT g fehe o # ST & 7 _

(A) ¥-¥efaued (B) e wad (C) H@divgad (D) 98 & SIS F&l
71.  Which of the following is not a form of precipitation ?

(A) Snow (E_qu Dew Sleet (D) Hail

fmdgsRa (mmywqmmmﬂﬁ%?

(A) S (3%h)  (B) = (34) (C) e (ferftawi)(D) & (3id)
72. The position of the sun, the moon and the earth in a straight line is called

(A) syzygy (B) quadrature (C) opposition (D) None of these

T, =g qen gz R ue et v i et weerd @ :

(A) - fig@) mefefa  (C) ffa (D) ¥ & HFE T
73.  Which of the following is not a method of Solid Waste Management ?

(A) Incineration (B) Composting (C) Landfill sites (D) None of these

= 7 3 o 6 v 3 sy yeua i fafaadi g ¢

(A) ¥efshel  (B) HANfET  (C) Y-WUrEEe (D) I8 d B @
74.  Which of the following countries consume more fish than any other country in

the world ?

(A) France ~(B) _China (C) Great Britain (D) Japan

= 4 & fopm 2w 3 3= 291 % et 3rfires aeelt o1 Suvi fRn S 22

(A) | (B) ¥+ (C) e forea (D) 9=
75. Mixed cultivation is found throughout

(A) Asia (B) Europe (C) Africa (D) Australia

i H g @t arg I 7 |

(A) Tfvrn (B) W (C) 3TshrehT (D) Fefern
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76.

77.

78.

79.

80.

81.

82.

83.

Cheviot Hills are situated in

A) Ireland B) Iceland (C) England (D) Scotland

(A) IS E  (B) Igeis ¥ (C) SeisH (D) Thiceis d

The Shan Massif Plateau is situated in

%:) Thailand (B) Myanmar (C) Indonesia (D) Malaysia
BT Yo HAfEId &

(A) 93V H  (B) WERH (C) vERfim e (D) #AfsETd

The Mallamalais and Palkonda Hills are situated in

(A) Eastern Ghats (B) Western Ghats

(C) Ajanta Range_ ) %D) None of these

(A) g aRis (B) ufvat =i

(C) 3rF=t *jgen § (D) 38 | %13 TE

Which of the following rivers does not form a rift valley ?

(A) Godavari B) Narmada (C) Tapti (D) None of these

e § ¥ 9 o 78 Riw-ardt @ Pt ad s 27
(A) Trerad (B) Ha (C),, At (D) T A& A&

Winter rainfall in Tamil Nadu is due to

(A) retreating monsoons (B) temperate cyclones
(C) trade winds (D) north-south monsoons
a9t H1HE0?
(A) TFTEHt o (B) ftdrso sshard
(C) =AM Famd (D) SeR-gfern arEa
Red soil is poor in
(A) Phosphorus. (B) Nitrogen (C) Lime (D) All of these
Ef)ﬁ:aﬁ T H & & 7
(A) q;r@hﬁm (B) g (C) wm=H (D) 3 adt
The state of India with the largest percentage of land area under forest cover is
(A) Madhya Pradesh (B) Arunachal Pradesh
(C) Assam (D) Odisha
- ATEBIEA aTel Had 921 Y-&F (A9 §) areln 9r/d &1 T
(A) FA YT (B) IUITEA 9eW (C) 31EH (D) affeam

Which of the following power projects is being constructed on the river
Bhagirathi ?

(A) Dulhasti Project (B) Tehri Dam
%ﬂ; Sardar Sarovar Dam (D) All of these
4§ %M o vfer afersn wrfieft 7<) w iy 27
(A) geteedt qfesH (B) Testismm
(C) TIER et a1g (D) I &+l
13 Code No. : C-483/2018/Series-A

12 /22



85.

86.

87.

88.

89.

90.

Which of the following is the biggest oil refinery of India ?

A) Mathura (B) Barauni (C) Koyali (D) Nunmati
A ¥ B d Yid & ged 91 379 Rwad 22
(A) wyT (B) =+ (C) hrareht (D) et
Forests of Karnataka Plateau are famous for
(A) Teak ~ (B) Sandal  (C) Sal (D) Mahogany
effeh TaT o ST 36 fore wferg 2
(A) @i (B) =& (C) = (D) wemH
Cash crops do not include
(A) Sugarcane  (B) Cotton (C) Jute (D) - Wheat
TR BEC J Ffferd 781 & _
(A) =TT (B) U™ (C) A (D) %
In which State the sex-ratio is more or less balanced ?
(A) Himachal Pradesh (B) Kerala
g;):’ Andhra Pradesh ) (D) Tamil Nadu
Tsg | e e dqfera 27

(A) feme@wewr (B) @ (C) Jgyem (D) dfierg

Which of the following features of ‘the Constitution of India resemble the
American Constitution ?

(A) A written Constitution (B) Single Citizenship

(C) Integrated judiciary (D) Parliamentary form of government
TR 1 A A1 4] FEIH! TG H FHAA T8 ?

(A) s ferfaa afagm (B) T AATICHAT

(C) Ushishd =ArauTierehl (D) H{HR H FEEHE @&

Who adopted the Constitution of India on the 26™ November, 1949 ?

(A) People of India (B) Parliament of India

(C) Cabinet (D) None of these

26 TR, 1949 1 ¥t wfaem H Siwr (3rfewr) fwn o

(A) 9HE @M A (B) WRAE EEEH (C) Wl-Hsd (D) 398 9 IS T8
Which Article of the Constitution allows the Centre to form new States ?
(A) Article 3 (B) Article4 (C) Article 5 (D) Article 6
TR AT 1 HH |1 31T=¢ g ol 93 T f97or Y 3Ed Ha1 27

(A) 3T=¥3-3 (B) HTWe-4 (C) ITBe-5 (D) HIHe-6

91. Which of the following Presidents of India was also the Secretary General of
Non-Aligned Movement for some period ?
(A) Dr. S. Radhakrishnan (B) V.V.Giri
gr:;){ Giani Zail Singh D) Dr. Shankar Dayal Sharma
72 WA & 9 8 TR 5 T 3 Py TR otk wel i W 7
(A) S. TH. TUIHWH (B) .4 firfe
(C) Tt 3 oz (D) Ef. vt g It
Code No. : C-483/2018/Series-A 14
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92.

93.

94.

95.

96.

Which of the following is not a Parliamentary Committee ?
(A) Committee on Public Accounts

(B) Committee on Public Undertakings

(C) Committee on Estimates

(D) Committee on Demands for Grants Committee

= 1 3 =l v wud wfafaadi 27
(A) Srh-or@ gffa (B) s 3UHH Tifa
(C) 3eher wfufa (D) A win afufa

The Chief Justice of India can be removed by the
(A) President

(B) Parliament

(C) President on a Resolution by the Parliament
(D) None of these

TR % g Aranefis s g2 S Hehell

(A) Tgafd gr (B) FHZ A
(C) THe o v&ard 9T Ugafd g (D). ¥H & 18 T

Who is responsible for the observance of the Rules of Business of the State
Government in India ?

(A) The Governor

(B) The Chief Minister

(C) The Advocate General

(D) The Chief Secretary of the State Government

T H T5T GThR o bl § F1ami & STer & foe i saweri 27

(A) T (B) g
(C) =&1-JAfer=hl (D) T3 GTR % 4T afed

Which one of the following States has minimum numbers of members in their
legislative assemblies ?

(A) Arunachal Pradesh (B) Sikkim

(C) Goa (D) Tripura

= 1 form s <1 faam & ¥ weed ) den weE FH R 7

(A) 3uTae wew (B)  fafaswy (C) Tiam (D) fga

Which of the following was an associate State of India before becoming a full
fledged State ?

(A) Mizoram (B) Meghalaya (C) Manipur (D) Sikkim
= 5 8 9 &1 Ui T &9 § A WA U Heg T U7
(A) Tt (B) HuTe™ (C) =g (D) faferm
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9.

98.

100.

101.

102.

103.

A proclamation of National Emergency automatically suspends

(A) Right to Freedom (B) Right to Constitutional Remedies
(C) All Fundamental Rights (D) None of these
TP SATITAhIS <hl VI Tohd Tad: TARTT T 2 7
(A) a1 3ifaR (B) Hauie Iu=R & JUFHR
(C) Tt genya arfersr (D) 398 4 15 &
Territorial waters of India extends upto how many nautical miles ?
T 1 HHieTd Serers ﬁwﬂgm
(A) 8 (B) 12 (C) 18 (D) 22
UPSC submits its annual report on its work to
(A) the Union Home Minister (B) the President
(C) the Parliament (D) the Chief Justice of India
UPSC 3194 i sht arfifes feraroft feraes amet siqa a2 7
(A) 5 T8 W (B)
(C) T8 (D) WRA % g&a A
Unemployment which occurs when workers move from one job to another job
is known as
(A) seasonal unemployment (B)  frictional unemployment
(C) cyclical unemployment (D) technological unemployment
a:mrrrg % U SA1" H T AE H > é‘ﬁ wm I HEeTd!
(A) HreEH! s ) Bl ST
(C) b st (D) A Teh! ST
The outlines of Second Five Year Plan was made by
(A) B.N. Gadgil (B) V.K.R.V.Rao
C) P.C. Mahalanobis D) C.N. Vakil
TEaYTa AT ! E9ET dgR 11% off
(A) .. mefier grr (B) #fi. .3 mmgm
(C) i .. wewmifem g (D) #.u4. Shid g
Who sets up the ‘Base Rate’ for banks ?
(A) RBI (B) Ministry of Finance
%a-% Ministry of Commerce (D) Individual Bank’s Board
% foTT “3MaR g0 1 79 HaT 87 :
(A) RBI (B) fa wamer
(C) arforfes wame™ (D) T o H S
The wage policy in India is based on
(A) productivity (B) standard of living
(C) cost of living (D) None of these
Id | 9a Hifd 3T 2

(A) 3@EHhal  (B) SaaE  (C) Tafeer@ (D) 398 9 =18 @l
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104.

105.

106.

107.

108.

109.

110.

111.

Which of the following States has the literacy rate lower than the national
average ?

(A) Karnataka (B) West Bengal

(C) Andhra Pradesh ’ (D) Maharashtra

T 3iEa i gem § e 3 | frw o i mama @ R e

(A) HAleH (B) ufrme e (C) HAWWEW (D) WERIE

Which State in India is estimated to have the largest coal reserves in India ?
(A) Bihar EB) Jharkhand

(C) Madhya Pradesh D) Odisha

WA < foh8 TSI H G A4 HE1 H HIACT HSR BH 1 JAThor (631 T8 7

(A) faEm (B) ¥m@E (C) wawew (D) 3iifesm

The percentage of agriculture land is very high in all the following States except
A) Punjab (B) Haryana (C) Uttar Pradesh(D) Sikkim
%ﬁn‘f@f@amﬁn&ﬁﬁﬁ %1 ufawra afa 3= 8, faam

(A) UTE (B) &f@mm (C) msr&sr iD) fafawn

Which of the following is not a part of India’s Money Market ?

(A) Bill Markets (B) Banks

C) Mutual Fund (D) IndianGold Council
% | 9Hd & Hg1 STIR HI T [FE1 48 27

(A) foet wrehem (B). &% ‘

(C) =43 % (D). 3fUeaA e Hifda

In India, the NABARD does not provide refinance to
(A) Scheduled Commercial Banks (B) Regional Rural Banks
(C) State Land Development Banks (D) Export-Import Bank

WA ® Frare G:foe fohdt e 38 et 2 7
(A) Irgfa arforfses da & (B) & mfior & i
(C) T q-fasm a &l (D) fHata-3mne s

The largest item of expenditure in the current account of the Central
Government budget is

(A) Defence Expenditure (B) Interest Payments
(C) Subsidies . (D) Expenditure on social services
H51d TP o o1¢ b dTe] Wd § o79 i God 91 7 2
(A) G (B) =191 YrdE
(O)-aReH (D) IS Fanai W oo
Special Economic Zone Act became effective in
faftre anfefe &= sifufm a@mpgan
(A) 2004 (B) 2005 (C) 2006 (D) 2007
Gravitational forces are
(A) the weakest force in nature (B) the strongest force in nature
(C) negligible in nature (D) None of these

ot :
(A) Whfd § ¥l AR 5et (B) Wi # Hed qofeld sfet
(C) wpfa & 7107 &t (D) 3 A F TE
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112.

113.

114.

115.

116.

117,

118.

119.

120.

Thermal radiations are

ﬁA) Mechanical waves %Bg Magnetic waves
! Electroné%nctlc waves D) None of these

(A) s aa (B) gerehia adi

(C) faega-gsshma att (D) &8 ¥ &S T

A D.C. device which generates very high voltage is

(A) Transformer (B) Rectifier

(C) D.C. Generator (D) Induction coil

Teh S1.H. ITHT S HAfd I diees 91 w1 & .
(A) ZEBHT (B) fRwmr () d.#.9fm (D) To®E ®iad

Which is most elastic ?

%p:q Wet cla (B) %Glass (C) Rubber (D) “Steel
(A) arrs% gfts  (B) (C) @ (D) v
A pH of 7 signifies

(A) Pure water (B) Neutral solution

(C) _Acidic solution (D) Basicsolution

pH# 7 &1 3754

(A) I oA (B) e faerm (C). Il faem (D) el e

Which one of the following compounds is insoluble in water ?
1(::“:)’ Fructose (B) Cellulose %C) Maltose (D) Cellobiose
A " & @1 At oo |

(A) W& (B) ﬁg@'ﬁﬁ (C) TS (D) TAEHES

Penicillin was discovered by

%A) Waksman %B) Pasteur

C) Alexander Fleming D) Ronald Ross

ffet= = wiae &

(A) arRET . (B) 9T¥=R

(C) UoTeraist FaAfemm (D) UATeE TS

Fats i ln human body are stored in ) . .

(A) Liver (B) Pancreas (C) Kidney (D) Adipose tissue

e IR T = Hated B 2
(A). 7Fa | (B) ¥=mEH (C) FFHH (D) @1 Fas 4

The disease ‘Thrombosis’ is associated with
(A) Heart (B) Eyes (C) Blood (D) Lungs

(A) BFH (B) A@iH (C) wa#d (D) ®®Sid
Citrus fruits are rich sources of

(A) Vitamin A (B) Potassium (C) Iron (D) Vitamin C
forga Sl # = HTE H B R

(A) faafim-t (B) rfsrm (C) I=E (D) feaerfim-=h
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121.

122,

123.

124.

125.

126.

127.

128.

The 2018 Vishwa Shanti Ahimsa Sammelan (VSAS) has organised recently in
which State ?

(A) Maharashtra (B) Uttar Pradesh (C) Gujarat (D) Assam

71t €1 1 form T farga wnifa iféen awie™ (VSAS) 2018 s gan 2

(A) HETg (B) sWyem  (C) T (D) 3m@H

Which of the following banks has recently become the India’s first PSU bank
to introduce comprehensive wealth business services for its clients ?

(A) SBI (B) PNB

(C) Bank of Baroda (D) Dena Bank

T & 4, i 3 3 a5 = d% wrmﬁua‘smm PSU & &1, ST 3799 AT&ehi o feru
g&d H9S] SHFE HATG qitarer | A ?

(A) SBI (B) PNB (C) % 3% 5Eial (D) &A1 5%

The famous Shahi Litchi of which State has recently got the Geographical
Indication (GI) tag ?

(A) UttarPradesh (B Uttarakhand (C) B1har anipur

B gr 4, fa yftrg wmdt <fi=ht 3&%»‘311 (GI) &1 9
FIR 7

(A) SRI@  (B) Jww@vs  (C) f&Em (D) HfoTge

Which of the following States is set to become the India’s first smoke free State ?
%1:), Karnataka (B) Kerala (C) Tamil Nadu (D) Andhra Pradesh

T § I G1 UST UG B TUH AT Heh U9 T4 AT @R ?

(A) THAeH (B) & (C) dfieAtg (D) 3 weH
Which State has recently celebrated the Kati Bihu Festival 2018 ?

(A) Meghalaya (B) Assam (C) West Bengal (D) Jharkhand
el 81 1 fopm Usa 61 fog Siler-2018 wm 7

(A) TETEE (B) 3@y (C) ufFmams (D) @Eve
Who has won the 2018 Man Booker Prize for Fiction ?

(A) Anna Burns (B) Val McDermid

(C) Leo Robson (D) Leanne Shapton

HATEE % A€ fordl BT et TEhR-2018 1w §37?

(A) IF=nsE (B) I fdwsiis (C) fasnismm (D) forw s

Which .country has succcssfully tested world’s largest unmanned transport
drone *FH-98" recently

(A) German B) Chma (C) Japan (D) Indonesia

g %m TSI UHafed IiEEd 3 ‘FH-98° Sl H%a gl
7

(A) (B) =+ (C) Sm= (D) SHfsREN

Which Indian personality has recently conferred with the Civilian Honour of
Mexico ?

(A) Ratan Tata (B) Mukesh Ambani
(C) Ajit Doval (D) Raghupati Singhania
% fopm vt st 3 fdges! amTies TmE e foha ?

(A) LG R (B) gHw e (C) ARHa S| (D) Teafa et
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129.

130.

131.

132.

133.

134.

135.

136.

Which Indian personality has recently appointed goodwill ambassador for
Nepal tourism ?

(A) Jaya Prada (B) Akshay Kumar

(C) Naseeruddin Shah (D) Raveena Tandon

71 81 # fopm st safeca &t Jure wded & forg wewme weiga frges frn man 2 2

(A) ST (B) FFAFIR (C) THEERwmE (D) omndea
Who has been named ‘The 2018 Best FIFA Men’s player’ ?

(A) Lionel Messi (B) Luka Modric

(C) Cristiano Ronaldo (D) Mohamed Salah

98 FIFA ($1%1) g9 flaemgi-2018 fora aifya foran mn 272

(A) Fasiie i (B) ol Hifgh

(C) Fredam tareel (D) WIEHg HTele

Which of the following letters is 14™ to the right of 6 letter from the left in the
English alphabet ?_

FST FuHTer § 9 ¥ B8 38R I gl AL H1 1441 e T § F Fi | gy
(A) R (B) P Q) W (D) T

In a coding system, ‘APPLE’ is represented-as ‘ZKKOV’. In such system,
‘COW’ will be represented as

U Sifen faeen #, ‘APPLE’ &1 ‘ZKKOV guian wn 2 | 36t feem §, ‘cow” #t
el T ST 7

(A) XLD (B) XMD (C) WLE (D) WDL

If BAG =71, then VICE= ?

af¢ BAG = 71, VICE = ?

(A) 69 (B)".70 (C) 75 (D) 90

In dictionary, which word comes fourth in arrangement ?

Yegehiel H, eaaieud s W 59 # ¥ 94 &1 wsg = 3w 2

(A) Propense (B) Prophet (C) Propine (D) Prong

Q’s mother is the sister of P and daughter of M. S is the daughter of P and sister
of T. How is M related to T ?

(A) Grandmother (B) Father

(C) Grandfather or Grandmother (D) None of these

QR A PR TEARIMMBEN RIS, PRGN TR TR IMFITH
FEEI 8 ?

(A) & (B) fumn (C) T@agE (D) T A HIE &l
How many times in a day, do the hands of a clock coincide with each other ?
us o & forafi o o o<t i gl wh me At 2 2

(A) 12 (B) 24 {C) 22 (D) 44

Code No. : C-483/2018/Series-A 20

19/ 22



137.

138.

139.

140.

141.

142,

143.

144.

145.

A person’s present age is two-fifth of the age of his mother. After 8 year, he
will be one-half of the age of his mother. How old is the mother at present ?
(A) 32 years (B) 36 years (C) 40 years (D) 48 years

U SfH i GATH 7Y IEeh! 7T ht 3G H 2/5 B | § T4 91G, IThI Y A
T i 3 < > B S | SaE | I5eh! AT it g fehat & 2

(A) 3294 (B) 3694 (C) 40ad (D) 48 =

The sum of all the 3-digit numbers which are formed by the digits 1, 2 and 3
without repetition of digits is

S B0 T 35 O 1, 2 9 3 S 8 S et 337 B ot e v

(A) 1233 (B) 1321 (C) 1323 (D) 1332

The old name of ‘Nalagarh” was

(A) Hindur (B) Nagarkot  (C) Suket (D) None of these
TG <61 1 AT o1 _

(A) fég (B) TR (C) g&a (D) 378 & =iE T

Guru Govind Singh was invited by the ruler of which princely State to fight the
Mughals ?
(A) Bushehar  (B) Hindur (C) Sirmaur (D) Suket

¥ gg i o fore fora el T2 o T 3 7% Mg it s feam ar 2

(A) FIE ®) feg (0), fawin (D) &$d

H.P. became Union Territory in the year
femmaer wer fopar ad hegamfara wemr & 2

(A) 1948 (B) 1951 (C) 1954 (D) 1956
‘Kunzum’ pass is located in which district of H.P. ?

(A) Kullu (B) Lahaul and Spiti

C) Chamba (D) Kangra

s % for F@ i ‘e o1l st & 2

(A) Fee (B) wme-fafa () == (D) TSt
‘Baspa’ is an important tributary of the river

(A) Beas (B) Chenab (C) Yamuna (D) None of these
oy frmeh e 7 27

(A)- = (B) fom (C) =g (D) & i T
‘Kais’ wild-life sanctuary is located in which district of H.P. ?

A) Chamba B) Kinnaur (C) Kullu D) Mandi

wew < ford Tt 1 “aree a=sfta sramey ax&riiﬁa% ?

(A) == (B) fo=iR (€) 3] (D) =t
The State Bird of H.P. is

(A) Monal (B) Parrot

C) Western Tragopan (D) None of these
%%maa e %1 T v 2 ’

(A) T (B) (C) ufeefi gl (D) & HrE T
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146. ‘Thirot’ hydroelectric project is constructed on which river ?

(A) Chenab (B) Satluj C) Beas (D) Ravi

* ST - ferega wfersrn fora 7w fafifa 27

(A) o= (B) Hadd (C) =m™ (D) T
147. The longest National Highway of H.P. is

et wew &1 qaE e agig TeEnt 2

(A) NH-103 (B) NH-105 (C) NH-3 (D) NH-5
148. Bahadurpur Fort is located in which district of H.P. ?

A) Solan %)é Sirmaur (C) Una (D) Bilaspur

%mﬁaﬁm%ﬂﬁa H TRty fohen srafeda 8 2

(A) drem (B) fawr (C) & (D)~ fserEg
149. Hari Rai Temple is located in which district of H.P. ?

(A) Mandi (B) Kangra (C) Kullu (D) Chamba

ﬁmﬁaﬁm%ﬁﬁaﬁéﬁﬂﬁéﬁﬁam@m%? .

(A) = (B) T (©) 3 (D) =
150. Dandaras dance is performed by which tribes of H.P ?

A) Kinnaura  (B) Lahaula (C). Pangwal (D) Gaddi

%mma 3T SUSRE e fohaT St 2 2

(A) fe=ra (B) @rgen (C) wrEw (D) TE
151. The themes of the Gompa paintings are derived from the love poems composed by

(A) Jayadeva (B) Keshava Das

C) Both (A) and (B) (D) None of these

amﬁﬁﬁﬁwﬁﬁmﬁﬁﬁmﬁﬁﬁmﬁﬁﬁﬁmn@ﬁgm%?

(A) S _ (B) yEeE

(C) (A)Tem (B) gH (D) ¥ & g T
152. ‘Losar’ is a festival of which religious community in H.P. ?

A) Hindu (B) Muslim (C) Jain (D) Buddhist

%ﬁﬁﬁ %] S H1 9Tftieh T A AR JATT 2 ?

(A) fig (B) FEHH  (C) S (D) W&
153. Nahauli Fair is celebrated in which district of H.P. ?

A) Mandl Bl]aspur (C) Hamirpur (D) Kinnaur

%ﬂﬁﬁ T HATIT STl 2 2

(A) =t (B) ﬁvamg{ (C) wHiTH (D) Tk
154. Himachal Pradesh Lokayukta Act was passed in which year ?

Temmaer wewr wiege sfuftam foha o arfea gam 2

(A) 1978 (B) 1981 (C) 1983 (D) 1985
155. Population density of H.P. as per Census-2011 is

SUET-2011 % AR fRureet 9es &1 S96e 99 2

(A) 103 (B) 109 (C) 123 (D) 136
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156.

157,

158.
159.

160.

161.

162.

163.

164.

165.

166.

167.

168.

169.

170.

The Indian Institute of Technology in H.P. is located at

(A) Shimla (B) Mandi (C) Dharamshala (D) Hamirpur
femmaret wew # 1T el W @ 2 2

(A) Pmend (B) HEtH (C) vwomen® (D) gHREH
Directions (Q. 157 to 159) : Choose the correctly spelt word out of the four
given alternatives A, B, C and D.

(A) commissioner (B) comissioner
(C) comisioner (D) comitioner
(A) ocasion (B) occesion (C) occasion (D) occagen
(A) utalize (B) utilize (C) utillise (D) utilaize

Directions (Q. 160 to 162) : Choose the most appropriate word out of the
four given alternatives A, B, C and D to fill in the blank,

Send in 1s waiting.

(A) whoever (B) whomever (C) that (D) which
You should cooked the stew much longer; it’s still quite tough.
(A) of (B) have (C) be (D) no word needed
His fancy art treasure may prove too expensive.

(A) into (B) through (€). ‘with (D) for
Antonym of the word ‘Amateur’ is

(A) actor (B) professional (C) professor (D) artist
Meaning of the idiom ‘To make meal of” is

(A) to cook (B) to consume

(C) to enjoy sumptuous food (D) to have early lunch

‘3TEE’ T STEFT IT6g FAAT A

(A) 35t (B) 3EA (C) TR (D) @d
0 $F O Iee 1 Y Fa = 2 7

(A) =Hifeed (B) IR (C) == (D) wRY=
T T AT B

(A) el (B) T (C) frazm (D) et
‘Fora snfi & e 6t ) wifda 7 21 @ fofw uss wreg 2

(A) 3rgadt (B) e (C) 3R (D) 33

TE + ¥ =

(A) HE (B) =fem (C) wew (D) =ew
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(A) 3=aH (B) 3&m8 (C) 3==dE™ (D) 3Iud™
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